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Degree (Part-I) (Vocational)
Examination, 2020

(Honours)

BCA

04

| Paper : First |

[ PPU-D-1 (V)H-BCA-1 |

Time : Three Hours] |[Maximum Marks : 75

__m_—_

Note : Attempt any five questions in all. All the questions are of

equal value. Question No. 1 is compulsory.
1. Write short notes on the following terms / keywords :
a) Laser Printer

«b)  ASCIl Coding

dejs o 2DOS

9/ CISC Technology

(9Y  QBASIC
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(@) " Winat . are the differences betweg,

microcomputer, minjcomp“te“ mainframa

computer and supercomputer ?

()  Explain in detail the components of computey

hardware.

3 (a) List five important registers of the CPU. Also state

the purpose of each register.

(b)  Show the classification of the input devices. Give

a description of joystick along with its features.

4 _— (a) ConvertE16, 389, E4.16 and 2A. 1B hexadecimal

numbers into decimal numbers.

(b) Perform binary subtraction on the following pairs

of binary numbers.
(i) 111000, 011010
(ii) 0110, 0010
(iii) 1111, 1001

(v) 1100, 1010

4008-1/1500 (2)
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S. (@)  What are the differences Letween Compiler and

Interpreter 7

(b)  Describe the two categories of system software

and give an example of each category.

6. (a)  State the purpose of each of the control

structures : Sequence, Selection, and iteration.

(b) Write an algorithm and draw a flowchart to find

the sum of all odd numbers till 100.

/. (a) Describe the Second generation computer based
on the hardware, software, computing
characteristics, physical appearance, and their

applications.

(b) What are the functions of the Arithmetical Logical
Unit and Control Unit 7

8. (a) Explain the need of the cache memory. State

three important features of the cache memory.

(b) What is the meaning of Volatile memory ? Also
give an example of volatile memory with

explanation. '

4008-1/1500 (1) [P.T.O.]
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,3:/" (a)
(b)
10. (a)
(b)

| I - — - T i
. a1

v, ‘--Ih'

Describe the functionality of a daisywheel printer.

What are the differences between impact and
Non-impact Printers ?

What is Direct Memory Access (DMA)
controller ? Describe with a d‘iagﬁ-"ram. * | 1
Describe architecture of 8086 microprocessor 4

with a diagram. | |

-u-x“.._ L r

Y
i | -
B IR
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when process is using the CPU '

(¢)

(d) none of the mentioned

(ii) The address of the next instruction to be executed
by the current process IS provided by the
(a) CPU registers

(b)  Program counter

(c)  Process stack

(d) Pipe

(111 When several processes access the same data

concurrently and the outcome of the execution
depends on the particular order in which the

access takes place, is called :
(@)  dynamic condition

(b) race condition

(c) essential cbndition

(d) critical condition

4008-2/1500 ' (52
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(wi)  Input  A="11/05/1983" Choose the right function
to get Output : 198

@) ?SUBSTR(A7,2)

)  ?STUFF (A7.3)

ey B E——— e . I,

(¢) ?SUBSTR(A,S8,3)

d) ?SUBSTR(A,7,3)

(vii) Decision Table is a

s e el A e e T

(a) Tabular representation of a program logic

(b)  Symbolic _ra-presentat‘ron of a program

logic .

|
|
|
!

(¢)  Graphical representation of a program
logic

(d)  Allof the above
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(b) 2n

(C) n?
(d) n2+1
(i) In the group of non-zero rational numbers under
ab
the binary operation » given by a*b = Z:2 the
inverse of 4 is :
1
(a) 1
A
(b) 5
(c) 2
(d) 1
I WRAg demet 3 @ ¥ 9 5 fEw
\ ab
qisFar « a"‘b—--2 Y IO TR, 4
R
1
(a) 2
1
| @)
' 1404-1/1800 3) [PT.0.]
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If A be a non-singular matrix of order n then

(Vi)
| adjA| =
o AP
(b)  |AI™
(6) - JAl"
(d) - AP
IR ATH n HfE H JorAUd ST 8, g
|adjA| = Bl
@ PAYTS
b) JAI™
S0 B o
(d AP
(vi)  Series HZ.;IZHHEI} D>0:

(a) Is divergent for p > 2
(b) s divergentfor p> 2
(¢)  isconvergent for p > 2

(d)  is convergent for p>2

- 1404-1/1800 (6)
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(@) ’
(b) i
(c)

(d) |

On the interval [-1, 1], f(x) is such that {'(x) = 0
for the function f(x) = x2 + | x | + 2. The values of
x are :
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L,I_!____E.E L2 e ¥, 7 kw my
:
(@) 1
) 2
(C) 3
(d) 4
Section -A
(wrs-%)
2 “(a) In a class of 25 students, 12 have taken

Mathematics, 8 have taken Mathematics but not
Biology. Find the number of Students who have
taken Mathematics and Biology and those who

have taken Biology but not Mathematics.

fanfat & #=n & 12 7 o fomr B, 8 X M
for &, df Shafes= =& & ¥ o9 i
%l e et e ftrg qur Safast o

¢ a1 3% e Siefsme e B Qe Tl
e forar B

1404-1/1800 (10 )
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(I::p Prove that

& oo

(1)

A countable union of sets is countable
Tl 1 UF TR 69 ORI e B

Any infinite subset of a countable set is
countable

3 (a) Prove the following

M & R difv

(i)

© 1404-1/1800

If Ry and R, are equivalence relations in
a set A, then R,[]1R, is also an

equivalence relation.

Let f . X — Y be afunction. If relation R
In X givenby R ={(a, b) : f(a) =f(b)}, then
R is an equivalence relation.

(0 S | PTO3
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qe At & X oY T & g
aft X ¥ R ={(a, b) : f(a) = f(b)} B ey
o g Ry AT 8, 9 R TF ey

T Bl
(b) If n» > 2 be collection of all even permutations of
{1, 2, .....,n} then prove that it forms a sub-group
n _
of order ?‘of the symmetric group S_..
g n>2 & oW (1,2, ......n} B N 99 AT
H GE &, 79 s A fF 78 Tafa aE S,
n
B B HTH ITEFE T
Section - B
(gvs-w)
4. (a) (1) Show that the product of two unitary
matrices is a unitary matrix.
e 3 3 Thier oTegdt 3 oM we
THIHH HE Bl 8|
(i1) Prove that inverse of an orthogonal matrix
Is orthogonal.
e Hifv % o Tl omege @
Iohd TSIy Bl 2
1404-1/1800 (123
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..,., ~(b)  Find rank of the 1'o||awmu matrix :

.
.

8 (a.) , Determina graphically the maximum and

minimum values of objective function

|
Z = 3x + Qy

Subject to th'a-constraiﬁts: X+ 3y <60
X+y >10
X<y

X > 0_.. y >0

B e s B B T P
e ts el il e ¥ T
1 -
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Simplex method, ,maximize the

(b) Using the
objective function =12

. ; -",
Subject to constraints: 4x, +2X; + X3 560

le +3K2 +3X.3 SSO

frrgaam fafer @ 99T BAA
7 =12x, 46X, +4x, @ AWHH AT M

st & srra e
4x, +2X, + X5 <60
2X; +3X, +3%x5; <50
X, +3X5+X53 <45
X 2 0,% >0,%x3 >0

Section - C
(gug-7)

6. (a) Prove that every convergent sequence is

bounded but converse is not true.

e i, s s SR s a3

& g 309 Seer W e Y
1404-1/1800 2 al Bk
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(b) Test the convergence of the series

00

z L
A3 X x>0.

1 :l n + l

Aoy r;i—]V X" y>0% afErd 8 i A
W;
f. (@)  Simplify:
3 HIMT ¢
i) e (D)
(i) (=3 +3i)

(b) Prove the following :

e @ s P
(i) cosh(x +y) =coshxcoshy +
sinh xsinh y

(ii) sinh(x — y) = sinh x.coshy —
coshx.sinhy

1404-1/1800 - ¢35 ) [P0
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that
8 (a) Determine the constants a and b 80 the

on f defined below is continuous everywhere

2X+1, qfa‘ XSI
f(x)={ax’+b, g} 1<x<3
5X+23,'q% X >3

(b) Draw the graph of the function y = | X=1] + |x -2| in

the interval [0, 3] and discuss the differentiability
of the function in this interval. -
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Degree (Part-1) (Vocational)
F.xamination, 2020

(Subsidiary)
ENGLISH
| Paper : First |

( Language and Literature )

[ PPU-D-1 (V) (Sub) ENG |
[Maximum Marks : 100

T L e

Time : Three Hours|

Note : Attempt all questions.

'y 1. Explain the following lines with reference to the context :
oL 5 TR }wmmmbm:mm! ,
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The trumpet of a prophecy! O Wind,

If Winter comes, can Spring be far behind?
OR

Away! away! for | will fly to thee,

Not charioted by Bacchus and his pards,

But on the viewless wings of Poesy,

Though the dull brain perplexes and
retards:

Already with thee! tender is the night,

And haply the Queen-Moon is on her
throne,

Cluster'd around by all her starry Fays;

(b) And the Giant's heart melted as he looked out.

'How selfish | have been!' he said;'now | know
why the Spring would not come here. | will put
that poor little boy on the top of the tree, and then
| will knock down the wall, and my garden shall
be the children's playground forever and ever.

He was really very sorry for what he had done.

2407-1/2400 (2)

T ikl * ‘*-m; < SRR
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OR

On some evenings, seated at his desk in the
corner of the big empty shed, the postmaster too
would call up memories of his own home, of his
mother and his sister, of those for whom in his
exile his heart was sad, — memories which were
always haunting him, but which he could not talk
about with the men of the factory, though he found
himself naturally recalling them aloud in the
presence of the simple little girl. And so it came
about that the girl would allude to his people as
mother, brother, and sister, as if she had known
them all her life. In fact, she had a complete
picture of each one of them painted in her little

heart.

(C) But mercy is above this sceptred sway:;
It is enthronéd in the hearts of kings,
It is an attribute to God himself:

And earthly power doth then show likest God's

2407-1/2400 (3.3 (PT.0.]
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justice. Therefore, Jew,

VWhen mercy seasons

Though justice be thy plea, consider this,

That. in the course of justice, none of us

Should see salvation: W€ do pray for mercy.

OR

Mark you this, Bassanio,

The devil can cite Scripture for his purpose.

An evil soul producing holy witness

's like a villain with a smiling cheek,
A goodly apple rotten at the heart.

Oh. what a goodly outside falsehood hath!

2. “rite a critical appreciation of the poem "Ode to a

Nightingale™.
OR

Comment on Hopkin's attitude to divinity with reference

to the poem "God's Grandeur".
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3. Critically appreciate Tagore's story "The Postrmaster
OR

_/ What is the philosophy of life axpressed in the as6ay
"Life's Philosophy" 7/

4 Comment on the Theme of the play /o Marchant of

Venice.
OR

Discuss the dramatic and symbolic significance of the

lottery of the Casket.

B, Write a précis of the following paragraph

My early approach to life's problems had been more of
less scientific, with something of the easy optimism of
the science of the nineteenth and early twentieth century.
A secure and comfortable existence and the energy and
confidence | possessed increased that feeling of

self-

optimism. A kind of vague humanism appealed to me.

Religion, as | saw it practised, and accepted even by

. 240‘7;-1/2400' (5) P1.0.]
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thinking minds, whether it was Hinduism or Islam or
Buddhism or Christianity, did not attract me. It seemed
to be closely associated with superstitious practices and
dogmatic beliefs, and behind it lay a method of approach
to life's problems which was certainly not that of science.
There was an element magic about it, an uncritical

credulousness, a reliance on the supernatural.

Yet it was obvious that religion had supplied some deeply
felt inner need of human nature, and that the vast majority
of people all over the world could not do without some
form of religious belief. It had produced many fine types
of men and women, as well as bigoted, narrow-minded,
cruel tyrants. It had given a set of values to human life,
and though some of these values had no ap;;lication
today, or were even harmful, others were still the

foundation of morality and ethics.

In the wider sense of the word, religion dealt with the
uncharted regions of human experience. uncharted, that
s, by the scientific positive knowledge of the day. In a

sense it might be considered an extension of the known

2407-1/2400 &k
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and charted region, though the methods of science and
religion were utterly unlike each other, and to a large extent
they had to deal with different kinds of media. It was
obvious that there was a vast unknown region all around
us, and science, with its magnificent achievements, Knew
little enough about it, though it was making tentative
approaches in that direction. Probably also, the normal
methods of science, its dealings with the visible world
and the processes of life, were not wholly adapted to the
physical, the artistic, the spiritual, and other elements of
the invisible world. Life does not consist entirely of what
we see and hear and feel, the visible world which is
undergoing change in time and space; it is continually
touching an invisible world of other, and possibly more
stable or equally changeable elements, and no thinking

person can ignore this invisible world.

i 2407-1/2400 | (7)
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Examination, 2020

(Composition)
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[ PPU-D-I(V) (COMP)-HIN(100M) | 527

Time : Three Hours] - |Maximum Marks : 100

A< - mﬁwmﬁmﬁﬁaw%mm
s a:ﬁarﬁﬁuﬁ%mgmmﬁ’r%wﬂmn

8 mmnmmmawm.
| [12!3-36]
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() R e & [a-RE fevd 9 a9t &) e
S BT ¥ FB qgd o8t A Y, o} a3
THEA F F AT A R B el d e
IS IFd ¥, HE e 9 &, T8 39 TE

B TGN B YT & T PE SRS B A A
ot

(&) @& 3 wRenl ¥ 7 ¥ S i B sow @,
3D &7, B, I9G AR B TET TG TGH, A9
B GHAl 21 ITH AT A I & T S
% I 6T & 81 W & 9 3R iR
q UERER &, 3R 7 3, R Sewr et
W TS B N TAIR dedhal &t B

3. Il 7 ¥ 5l @ W P Rfgw 0 [15)

7401-1/2400 (135) [PT.O.]
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